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 NNBLK [-] 3417 

X  NX [-] 201 

Y  NY [-] 1 

Z  NZ [-] 17 

 

(3)  

    

 ρw [kg/m3] 1000 

 Cf [1/Pa] 4.59×10-10 

 μ [Pa s] 1.002×10 -3 

 

       

 ρ [kg/m3] 2500 2500 2500 2500 

 φ [-] 0.2 0.2 1.0×1030 1.0×1030 

 K [m2] 0 1.0×10-12 9.87×1034 9.87×1034 

 Cr [1/Pa] 1.02×10-10 1.02×10-10 1.02×10-10 1.02×10-10 

 

  

 

 



 

    

 h0 [m] -5 

 a [m] 1 

 T [s] 86400 

 b [m] 5 

 h [m] -5 
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(5)  

RMSE N Ti (i=1, 

…, N) GETFLOWS Ai (i=1, …, N) RMSE  

 

 

 [day]  [m]  RMSE [m] 

0.5 0~2500 

120 

4.582×10-4 

1 0~2500 5.162×10-4 

1.25 0~2500 3.516×10-4 

1.75 0~2500 2.547×10-4 

 

  [day]  RMSE [m] 

Point 1 0~2 

201 

1.193×10-4 

Point 2 0~2 5.709×10-3 

Point 3 0~2 4.378×10-3 
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